ASCHSA Barrel Jackpot Payoff

Sunday, September 1, 2024

Format: ASCHSA 4D	┌ Payout Calculations———]
- Time Splits: 4-D (0.5 sec0.5 sec1.0 sec.) - Money Split/Division: 35 - 30 - 20 - 15%	Entry Fee: Percentage to Payout:	\$25.00 x 100%
- Go-Rounds: 1 - Figure Average Time: N/A	Entry Fee to Payout: Total Entries:	\$25.00 x 101
 Figure Fastest Time: N/A Drag after every 5 runners. Split Added Money proportionally between divisions. 	Entry Fees to Payout: Added Money:	\$2525.00 + \$0.00
 Split Added Money proportionally between divisions. Split Unclaimed Monies equally between remaining 	Total Payout:	\$2525.00

Place	Percent	1D Payoff	2D Payoff	3D Payoff	4D Payoff	
1	28.00%	\$247.45	\$212.10	\$141.40	\$106.05	
2	22.00%	\$194.43	\$166.65	\$111.10	\$83.33	
3	18.00%	\$159.08	\$136.35	\$90.90	\$68.18	
4	14.00%	\$123.73	\$106.05	\$70.70	\$53.03	
5	10.00%	\$88.38	\$75.75	\$50.50	\$37.88	
6	8.00%	\$70.70	\$60.60	\$40.40	\$30.30	
Totals	100%	\$883.77	\$757.50	\$505.00	\$378.77	

ASCHSA Pole Jackpot Payoff

Sunday, September 1, 2024

Format: NBHA - 3D Format	┌ Payout Calculations———	
- Time Splits: 3-D (1.0 sec1.0 sec.) - Money Split/Division: 50 - 30 - 20%	Entry Fee: Percentage to Payout:	\$25.00 x 100%
- Go-Rounds: 1 - Figure Average Time: N/A	Entry Fee to Payout: Total Entries:	\$25.00 x 69
 Figure Fastest Time: N/A Drag after every 5 runners. Split Added Money proportionally between divisions. 	Entry Fees to Payout: Added Money:	\$1725.00 + \$0.00
 Split Added Money proportionally between divisions. Split Unclaimed Monies equally between remaining 	Total Payout:	\$1725.00

Place	Percent	1D Payoff	2D Payoff	3D Payoff
1	30.00%	\$259.00	\$155.00	\$104.00
2	25.00%	\$216.00	\$129.00	\$86.00
3	20.00%	\$173.00	\$104.00	\$69.00
4	15.00%	\$129.00	\$78.00	\$52.00
5	10.00%	\$86.00	\$52.00	\$35.00
Totals	100%	\$863.00	\$518.00	\$346.00

ASCHSA Stakes Jackpot Payoff

Sunday, September 1, 2024

Format: NBHA - 3D Format	┌ Payout Calculations———	
- Time Splits: 3-D (1.0 sec1.0 sec.) - Money Split/Division: 50 - 30 - 20%	Entry Fee: Percentage to Payout:	\$25.00 x 100%
- Go-Rounds: 1 - Figure Average Time: N/A	Entry Fee to Payout: Total Entries:	\$25.00 x 13
 Figure Fastest Time: N/A Drag after every 5 runners. Split Added Money proportionally between divisions. 	Entry Fees to Payout: Added Money:	\$325.00 + \$0.00
 Split Added Money proportionally between divisions. Split Unclaimed Monies equally between remaining 	Total Payout:	\$325.00

Place	Percent	1D Payoff	2D Payoff	3D Payoff
1	60.00%	\$98.00	\$59.00	\$39.00
2	40.00%	\$65.00	\$39.00	\$26.00
Totals	100%	\$163.00	\$98.00	\$65.00

Sunday, September 1, 2024 Location: Barton Coliseum - Little Rock, AR

Producer: ASCHSA

Format: NBHA - 3D Format	┌ Payout Calculations────	
- Time Splits: 3-D (1.0 sec1.0 sec.) - Money Split/Division: 50 - 30 - 20%	Entry Fee: Percentage to Payout:	\$25.00 x 100%
- Go-Rounds: 1 - Figure Average Time: N/A	Entry Fee to Payout: Total Entries:	\$25.00 x 13
 Figure Fastest Time: N/A Drag after every 5 runners. 	Entry Fees to Payout: Added Money:	\$325.00 + \$0.00
 Split Added Money proportionally between divisions. Split Unclaimed Monies equally between remaining 	Total Payout:	\$325.00

Place	Percent	1D Payoff	2D Payoff	3D Payoff
1	60.00%	\$98.00	\$59.00	\$39.00
2	40.00%	\$65.00	\$39.00	\$26.00
Totals	100%	\$163.00	\$98.00	\$65.00

ASCHSA Speed Jackpot Payoff

Sunday, September 1, 2024

Format: Flag & Speed	┌ Payout Calculations———	
- Time Splits: 2-D (0.5 sec.) - Money Split/Division: 60 - 40%	Entry Fee: Percentage to Payout:	\$25.00 x 100%
- Go-Rounds: 1 - Figure Average Time: N/A	Entry Fee to Payout: Total Entries:	\$25.00 x 40
 Figure Fastest Time: N/A Drag after every 5 runners. Split Added Money proportionally between divisions. 	Entry Fees to Payout: Added Money:	\$1000.00 + \$0.00
 Split Added Money proportionally between divisions. Split Unclaimed Monies equally between remaining 	Total Payout:	\$1000.00

Place	Percent	1D Payoff	2D Payoff
1	30.00%	\$180.00	\$120.00
2	25.00%	\$150.00	\$100.00
3	20.00%	\$120.00	\$80.00
4	15.00%	\$90.00	\$60.00
5	10.00%	\$60.00	\$40.00
Totals	100%	\$600.00	\$400.00

ASCHSA Flags Jackpot Payoff

Sunday, September 1, 2024

Format: Flag & Speed	┌ Payout Calculations———]
- Time Splits: 2-D (0.5 sec.) - Money Split/Division: 60 - 40%	Entry Fee: Percentage to Payout:	\$25.00 x 100%
- Go-Rounds: 1 - Figure Average Time: N/A	Entry Fee to Payout: Total Entries:	\$25.00 x 28
 Figure Fastest Time: N/A Drag after every 5 runners. Split Added Manay propertionally between divisional 	Entry Fees to Payout: Added Money:	\$700.00 + \$0.00
 Split Added Money proportionally between divisions. Split Unclaimed Monies equally between remaining 	Total Payout:	\$700.00

Place	Percent	1D Payoff	2D Payoff
1	40.00%	\$168.00	\$112.00
2	30.00%	\$126.00	\$84.00
3	20.00%	\$84.00	\$56.00
4	10.00%	\$42.00	\$28.00
Totals	100%	\$420.00	\$280.00

Sunday, September 1, 2024 Location: Barton Coliseum - Little Rock, AR Producer: ASCHSA

Format: Flag & Speed	┌ Payout Calculations———	
 Time Splits: 2-D (0.5 sec.) Money Split/Division: 60 - 40% Go-Rounds: 1 Figure Average Time: N/A Figure Fastest Time: N/A Drag after every 5 runners. Split Added Money proportionally between divisions. Split Unclaimed Monies equally between remaining 	Entry Fee: Percentage to Payout:	\$25.00 x 100%
	Entry Fee to Payout: Total Entries:	\$25.00 x 9
	Entry Fees to Payout: Added Money:	\$225.00 + \$0.00
	Total Payout:	\$225.00

Place	Percent	1D Payoff	2D Payoff
1	60.00%	\$81.00	\$54.00
2	40.00%	\$54.00	\$36.00
Totals	100%	\$135.00	\$90.00

Junior Horse Jackpot Payout

<u>8</u> X	<u>\$25</u> =	<u>\$200.00</u>
# of entries	entry fee	TOTAL

CONTESTANT NAME

1ST	 \$100.00	50%
2ND	 \$60.00	30%
3RD	\$40.00	20%

Leadline Jackpot Payout

<u>8</u> X	<u>\$25</u> =	<u>\$200.00</u>
# of entries	entry fee	TOTAL

CONTESTANT NAME

1ST	 \$100.00	50%
2ND	\$60.00	30%
3RD	\$40.00	20%

Walk Trot 10 & Under Jackpot Payout

<u>10</u> X	<u>\$25</u> =	<u>\$250.00</u>
# of entries	entry fee	TOTAL

1ST	CONTESTANT NAME	\$100.00	40%
2ND		\$75.00	30%
3RD		\$50.00	20%
4TH		\$25.00	10%

Junior Ranch Rail Jackpot Payout

<u>13</u> X	<u>\$25</u> =	<u>\$325.00</u>
# of entries	entry fee	TOTAL

1ST	CONTESTANT NAME	\$130.00	40%
2ND		\$97.50	30%
3RD		\$65.00	20%
4TH		\$32.50	10%

Senior Reining Jackpot Payout

<u>17</u> X	<u>\$25</u> =	<u>\$425.00</u>
# of entries	entry fee	TOTAL

	CONTESTANT NAME		
1ST		\$136.00	32%
2ND		\$106.25	25%
3RD		\$80.75	19%
4TH		\$55.25	13%
5TH		\$46.75	11%

Walk Trot 50+ Jackpot Payout

<u>15</u> X	<u>\$25</u>	=	<u>\$375.00</u>
# of entries	entry fee		TOTAL

1ST	CONTESTANT NAME	\$120.00	32%
2ND		\$93.75	25%
3RD		\$71.25	19%
4TH		\$48.75	13%
5TH		\$41.25	11%

Walk Trot 11-49 Jackpot Payout

<u>19</u> X	<u>\$25</u>	=	<u>\$475.00</u>
# of entries	entry fee		TOTAL

	CONTESTANT NAME		
1ST		\$137.75	29%
2ND		\$109.25	23%
3RD		\$85.50	18%
4TH		\$57.00	12%
5TH		\$47.50	10%
6TH		\$38.00	8%

Senior Ranch Rail Jackpot Payout

<u>21</u> X	<u> \$25</u> =	<u>\$525.00</u>
# of entries	entry fee	TOTAL

	CONTESTANT NAME		
1ST		\$152.25	29%
2ND		\$120.75	23%
3RD		\$94.50	18%
4TH		\$63.00	12%
5TH		\$52.50	10%
6TH		\$42.00	8%

Senior Ranch Riding Jackpot Payout

<u>27</u> X	<u>\$25</u> =	<u>\$675.00</u>
# of entries	entry fee	TOTAL

	CONTESTANT NAME		
1ST		\$189.00	28%
2ND		\$148.50	22%
3RD		\$114.75	17%
4TH		\$74.25	11%
5TH		\$60.75	9%
6TH		\$47.25	7%
7TH		\$40.50	6%